REREZATRERBRICODVTHEER-E2DI)

WEEES Y L
2255
100Bg/ kg% X 5L D0
BREHER
No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 H BRET R4.10.17 FEARLULM=1F () BREE9(<34) 447 45
2 L R4.10.17 FREARLW=1F (5% BRHEE9(<3.3) 14.7 15
3 L R4.10.17 FREARLWM=F (5% BRHEE9(<3.8) 9.26 9.3
4 L R4.10.17 FREARLWM=1F (5% BREE9(<45) 7.35 7.4
5 tHEM R4.10.17 FREARLW=1F (5% BREE9(<4.9) 5.54 55
6 tHEM R4.10.17 FREARLWM=F (5% BRHEE9(<3.8) 12.7 13
7 AT R4.10.17 BERLULV =T (7EER) BRHET(<4.2) BRHET(<L25) BRHEY
8 =& R4.10.17 BERLULV =T (7EER) BRHET(<3.8) BRHET(<L35) BRHEY
9 AT R4.10.17 BRSO (EHh) BRHEE9(<3.0) 5.29 5.3
10 BT R4.10.17 BRSO (EHh) BRHEE9(<3.3) 245 25
11 T 4ERET R4.10.17 [REARAHI (Fih) BRHE9(<2.6) BRHE9(<3.0) BREEY
12 ES AT R4.10.17 BRSO (HEER) BHEY(<L36) BRHEI(<45) BHEY
13 tSHET R4.10.17 BRSO (HEER) BRHE(<3.3) BRHET(L3.1) BREET
14 tEET R4.10.17 BEREH I (FEER) BRHEET(<47) BRHE9(<4.0) BREET
15 = Ey R4.10.17 BRSO (%) BRHE9(<3.3) BRHE9(<3.3) BHEY
16 = Ey R4.10.17 BRSO (%) BRHE9(<35) BRHE9(<3.0) BHEY




BRERER

No b1 R A APlniESE i 1-134 t 9 L-137 EEE
Ba. kg Ba. kg Bqg. kg
17 ZLLtH R4.10.13 BREL =T (EER) BRHEE3(<4.2) BRHE9(<3.8) BREEY
18 Zth R4.10.17 BERUOOT=1T(FEHh) BRHET(<3.7) BRHET(<34) BRHEY
19 iR THT R4.10.17 ERUOST=1T(FEHh) BRHET(<3.2) BRHET(<4.0) BRHEY
20 Zth R4.10.14 BERUOST=1T (HE%) BRHET(<43) BRHET(<3.3) BRHEY
21 HE™T R4.10.17 BRO LT (HEE%) BREE9(<3.7) BRHET(<31) BRHEY
22 & R HT R4.10.17 BEROST=1T (FE%) BREE9(<4.1) BRHEE9(<3.5) ‘9
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